L =a 9¥G'0 = P X A3/ K3asuqg
001 oro

¥0—-4d02'e -+ ¥0—-d14°G = WJoN T T [Trr 1 1 1T 1 T [TTT T T H
00+300T -+  00+3LST- = I 3 AT ‘,y E
10-365°2 -+  10-FAI'T = Hy _ :+ | L_ﬁ —
21-39€'2 = xnid 3 E
10-4%8'1 = ajed OOQW = 1 1 | I T T B 1 | I .n.
A9/ AS1auy A9¥ /ABasuy
00T 010 00T 010
= [TTTT T T T 1 [TTTT T H T [TTTT T T T 1 [TTT T
= | EP G m
L — -
(o]
=
m O
S n -
- _ 2
\/) — -
i i 0 - ]
a i = -
- 7] n _ m _
= Je-01 " E =
€ ~
(0]
§ =
! I T T [1111 1 1 S I I T R L [110 11

€18682+0c21SL0r SXde [mod, wured G900 6121€6

s[enpisay

(A®¥ s)/syuno)




